Installation and Assembly - Circular Multi-Display™ Systems Model: MDJ 760

Maximum Load Capacity:
600 Ib (272.1 kg)

Read instruction sheet before you start installation and assembly.

A WARNING

» Setscrew (AA) is self tapping and may be hard to get started but is essential to this installation.
* Failure to install this screw can cause the mount to fall.

Multi-Display System for Jumbo 2000° MOUNES .......uuviiiieiieeeeiiieeceee e pages 2-3
Multi-Display System for Plasma MOUNTS ..........oiiiiiiiiiiii e pages 2, 4-5
CIRCULAR MULTI-DISPLAY™ SYSTEM CIRCULAR MULTI-
FOR JUMBO 2000® MOUNTS DISPLAY SYSTEM FOR
_— PLASMA MOUNTS
MDJ 760

MDJ 760

Additional models required

« tCeiling Decoupler (DCT 600)

» Multi-Display Interface Bracket (ACC 600)
 Fixed Length Extension Columns

* Jumbo 2000 mount (JM2640 , IM2650 or IM2660)
or PLCM-2 plasma mount

Optional Accessories Kits

» Adjustable Extension Columns
(For more information call customer service)

TOther ceiling decouplers may be used if mounted to a structure other than
an |-Beam (Call Customer Service for more information).

1lof5 ISSUED: 06-26-00 SHEET #: 139-9010-3 12-02-04
Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.




Parts List

self-tapping phillips screw

Description Qty. Part#
A circular pipe 1  139-1076
B retaining collar 1  1800-375
C fiber washer 1  540-9432
D M5x0.8x10 mm pan head 1  520-9250

Note: Some parts may appear slightly different than illustrated.

JUMBO MODEL # JUMBO PIPE COLUMNS | ACC 600 | ACC 600 Approx. spacing
QTY. SIZE |DIAMETER REQ REQ (center to center for Jumbos)
MDJ 760 | JM2640 48" 1 3
3 MDJ 760 | JM2640 48" 1 3 End of one ring extender pipe
MDJ 760 | JM2660 48" 1 3
MDJ 760 | JM2640 48" 1 4 o "
4 MDJ 760 | JM2650 48" 1 4 90°/36

DETAIL 1

Slide circular pipe (A) and fiber washer (C) over end of

extension column (sold separately). Thread retaining collar
(B) onto threaded end of extension column. Tighten four or
five complete turns. Insert and securely tighten one M5 x .8 x
10 mm self-tapping phillips screw (D) as shown in detail 1.

A WARNING

this screw.

» The M5 self-tapping phillips screw is essential for
safety. Be sure to lock retaining collar into place with

' ' ' ~ Ceiling Decoupler

Fixed Length Extension Column

20f5

ISSUED: 06-26-00 SHEET #: 139-9010-3 12-02-04

Visit the Peerless Web Site at www.peerlessindustries.com

For customer service call 1-800-729-0307 or 708-865-8870.




MDJ 760

(3) IM2640, IM2650 or IM2660
(1) COLUMN

MDJ 760

(4) IM2640 or IM2650
(1) COLUMN

3of5 ISSUED: 06-26-00 SHEET #: 139-9010-3 12-02-04

Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.



*ADD columns are used for attachement to ceiling decouplers only.

**EXT and ADJ columns are used for attachment to PLCM-2.

PLASMA PLCM-2 PIPE i) | CEILING ACC 600 | ACC 600 Approx. spacin
QTY. ulole =iy el NS G R= SN e 3 QTY. |[DIAMETER COIR‘ILEJgI.NS COIR‘ILEJgI.NS DECOUPLERS| REQ. |(center to cerrjlfer for Elasm?as)

MDJ 760 | 32" (approx. width - 30") 3 48" 1 3 1 3

3 MDJ 760 | 40" (approx. width - 38") 3 48" 1 3 1 3 End of one ring extender pipe
MDJ 760 | 42" (approx. width - 40") 3 48" 1 3 1 3
MDJ 760 | 50" (approx. width - 48") 3 48" 1 3 1 3
MDJ 760 | 32" (approx. width - 30") 4 48" 1 4 1 4

4 MDJ 760 | 40" (approx. width - 38") 4 48" 1 4 1 4 90° / 36"
MDJ 760 | 42" (approx. width - 40") 4 48" 1 4 1 4

m

DETAIL 1

?

Slide circular pipe (A) and fiber washer (C) over end of
extension column (sold separately). Thread retaining collar
(B) onto threaded end of extension column. Tighten four or
five complete turns. Insert and securely tighten one M5 x .8 x
10 mm self-tapping phillips screw (D) as shown in detail 1.

A WARNING

this screw.

» The M5 self-tapping phillips screw is essential for
safety. Be sure to lock retaining collar into place with

on(n

@/ACC 600

|

|

|

|

|
Fixed (EXT models) or
Adjustable (ADJ models)
Extension Columns

PLCM-2mount

Ring Extender Pipe

Ceiling Decoupler

Fixed or Adjustable Extension
Columns (ADD models)

A

40f5

ISSUED: 06-26-00 SHEET #: 139-9010-3 12-02-04

Visit the Peerless Web Site at www.peerlessindustries.com

For customer service call 1-800-729-0307 or 708-865-8870.




MDJ 760

(3) 32", 40", 42", or 50" PLASMA SCREENS
(1) ADD COLUMN

MDJ 760

(4) 32", 40", or 42" PLASMA SCREENS
(1) ADD COLUMN

50f5 ISSUED: 06-26-00 SHEET #: 139-9010-3 12-02-04

Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.
©2004 Peerless Industries, Inc. Allrightsreserved.

Peerless and Jumbo 2000 are registered trademarks, and Multi-Display is atrademark of Peerless Industries, Inc.
Allother brand and product names are trademarks or registered trademarks of their respective owners.



